CAPE ELIZABETH SCHOOL DEPARTMENT EXTRA CURRICULAR POSITION

DATE: 2/27/14

TO: Cape Elizabeth School Board

FROM: Scott Labbe

RE: Recommendation for Extra Curricular Position(s)

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position?	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
Joanne Bearor	8th Softball	1	144	2160.00	\$2160.00	School	No	No	
Kevin Stilphen	7th Girls Lacrosse	<u>l</u>	144	2160.00	# 2160.00	School	No	No	
Peter Esposito	8th Baseball		144	2160:00	\$2160.00	School.	NO	NO	
Per Noreus	7th Track	i	126	1890,00	# 1890.00	School .	NO	NO	
Paul Wellman	8th Track	1	126	1890.00	\$1890.00	School	No	NO	

CAPE ELIZABETH SCHOOL DEPARTMENT EXTRA CURRICULAR POSITION

DATE: 2/27/14

TO:

Cape Elizabeth School Board

FROM:

Scott Labbe

RE:

Recommendation for Extra Curricular Position(s)

Name Christopher Drake	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
Russell Thompson	RUA RALL LOCALE				\$2160.00				
1000011	OTH DOYS LACTOSSE.		177	0.100100	RE & I WO I W	School	No	NO	

CAPE ELIZABETH SCHOOL DEPARTMENT

EXTRA CURRICULAR POSITION

DATE: March 6, 2014

TO: Cape Elizabeth School Board

FROM: Jeff Thoreck

RE: Recommendation for Extra Curricular Position(s)-Spring 2014

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position?	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
Amaluani, Maad	Varsity	2	227.4	45	4.007	Cabaal Budaat	A.	N.	
Andrew Wood	Baseball	3	326.4	15.	4,896	School Budget	N	N	
Andrew Guay	JV Baseball	3	268.8	15.	4,032	School Budget	N	Υ	
Greg Marles	Asst. Varsity Baseball	3	174		?	Boosters	N	N	
Joe Henrikson	Varsity Softball	4	296.48	15.	4,891.84	School Budget	N	N	
Steve Martin	JV Softball	3	247.8	15.	3,717	School Budget	N	N	
BJ Nicholson	Asst. Varsity Softball	3			1,500	Boosters	N	N	
Jeff Perkins	Girls' Varsity Lacrosse	3	281.4	15.	4,422	School Budget	N	N	
Sally Newhall	Girls' JV Lacrosse	3	235.2	15.	3,696	School Budget	N	N	
Elizabeth Yarrington	Asst. Girls' JV Lacrosse	3			?	Boosters	N	Y	

CAPE ELIZABETH SCHOOL DEPARTMENT

EXTRA CURRICULAR POSITION

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
	Boys' Varsity								
Ben Raymond	Lacrosse	4	294.8	15.	4,864.20	School Budget	N	N	
David Croft	Boys' JV Lacrosse	3	240.8	15.	3,696	School Budget	N	N	
Charlie Carroll	Asst. Boys' Varsity Lacrosse	3			2,500	Boosters	N	N	
Chris Bagley	First Team Boys' Lacrosse	3			?	Boosters	N	Y	
Doug Worthley	Head Track	4	279.73	15.	4,615.46	School Budget	N	N	
Andrew Lupien	Asst. Track	3	174	15.	2,610	School Budget	N	N	
Andy Strout	Boys' Varsity Tennis	4	249.57	15.	4,117.91	School Budget	N	N	
Sarah Boeckel	Girls' Varsity Tennis	3	224.05	15.	3,360.75	School Budget	N	N	
Ben Putnam	JV Tennis	3	122.4	15.	1,836	School Budget	N	N	

First Team Boys' Lacrosse: Chris Bagley is a former CEHS student/athlete and a graduate of University of Maine at Orono.

J.V. Baseball: Andrew Guay is a former CEHS student/athlete and a graduate of St. Joseph's College. Andrew also coached CE Middle School baseball last spring and we are thrilled to have him in the program.

Asst. JV Girls' Lacrosse: Liz is a long term English substitute this year and has many years of experience as a Lacrosse player. She will be great asset to the team.